AP® HUMAN GEOGRAPHY
2011 SCORING GUIDELINES

Question 2

In 1798 Thomas Robert Malthus published An Essay on the Principle of Population in which he argued that
population growth will inevitably outpace food production, resulting in widespread famine.

Part A (4 points: 1 point for each reason identified [ID] and 1 explanation point per ID)

Identify and explain TWO reasons why some geographers today believe Malthus’ theory can be used to
predict future population issues.

ID:

ID:

ID:

Population has been rising quickly. OR
Population has generally grown as predicted by Malthus.

Explanation
e Limited use of contraception.
e Political policies, economic decisions, cultural beliefs that support population growth.
e Demographic transition model, referring to Stage 2 and/or early Stage 3.

Food supply has increased, but it has not kept up with population increase. OR
Food supply has generally grown as predicted by Malthus.

Explanation

e Failure to adopt agricultural innovation, owing to political policies, economic decisions,
cultural beliefs.

e (Conversion of farmland for urban use.

e Environmental degradation such as desertification, overgrazing, clear cutting, soil erosion,
unavailability of fresh water.

e Conversion of life-supporting crops to cash crops (tobacco, sugar, cotton, tea, coffee).
e Rising fuel costs will slow down growth of food production and distribution.
e (limate change will decrease production.

There are other limiting factors on population in addition to food.
Explanation

e Because of resource overuse and/or environmental degradation, we are in danger of
exceeding the carrying capacity (clean air, fossil fuel, water, and other resources).
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Question 2 (continued)
Part B (4 points: 1 point for each reason identified [ID] and 1 explanation point per ID)

Identify and explain TWO reasons why some geographers today believe Malthus’ theory cannot be used to
predict future population issues.

ID: Population growth has not been rising geometrically/exponentially. OR
Population has generally not grown as predicted by Malthus.

Explanation
e Expanded use of contraception.
e Political policies, economic decisions, cultural beliefs that limit population growth.
¢ Demographic transition model, referring to late Stages 3, 4, and/or 5 (declining birth rate).

ID: Food supply has grown faster than predicted by Malthus. OR
Carrying capacity has expanded.

Explanation

e New technologies, such as: mechanization, factory farming, industrial agriculture,
agribusiness, use of chemicals, irrigation, GPS.

e (reater efficiencies, such as: larger farms, consolidation of farms, mechanization,
multicropping.

e (Green Revolution, genetically modified crops, multicropping, improved seeds, high-
yielding cultivars.

e Expansion of agricultural lands.

e Human ability to create new techniques.

ID: Our ability to preserve food and/or distribute food to areas of need is much greater than during
Malthus' time.

Explanation
e Improvements in any and all methods of transportation (highways, containerization,
refrigerated trucks).

e Improvements in food preservation (refrigeration, packing, processed food).

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AA ot A

Write in the box the number of the question you are answering 2
on this page as it is designated in the exam.

A. Ggaﬁmﬁ&zﬁs believe That Mathuss fhzm can be psed to
pdct_frture pprlalion sues becase r%f Pant (ountrras
n e fower n”m (2-3) of The cemog raphls bancition

Y72l Y.
f)am//a,z‘//}z; of Dzm&//uc o /AC/C c?;‘? [ontrA (e,m%& C&e_%s
/fﬁ'm&/f/ nafmz’m///,; L] o e a//a’zcs’p/’/M aﬁm«m Aad/pus
/:rmifzfz/ J
Addtiomadiy, it ol be /j/m/m/ that because af the
Qrawimg 4/%mm i me//m/ Ireatriint altaEs fha
/w//pﬂ mlch fours” people are a’ Ylhg from diseace and
/7 W/%r%ni G W laads 1o the natvral

2 727.?‘4?/%0’ mmmjr 4 7?/’71& /?W; /s MW (ch codld
lrad 7o 4 /;// 0t avillable 100l
B. The f‘h/m N rL//ﬁ/f{, mwzf/ﬁm 1§ st 1A place M/MM

N et Pmo/x_ 4t zzlo 7 m//f/a 44 m’zram&m/f

of 7%7/ /%50/{7 Lier helore /%gm/q 17 /Arg,g manoci!vre.
/émw\ Leedlots . and G M s- ZH}%W&M ng 18 Wit 4 4/)@24‘
Lanety 1h P ool ﬂ/ﬁ/ycz/ cmuw’ef/ 11 . podt, er

/g D%ﬁfé&; of it Mwh WU 2411 %zgm A8 SUb<ince for Tha

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.




AA AN

_.7.. Write in the box the number of the question you are answering
on this page as it is designated in the exam.

mvzwm 0P 100 oF prople .

/Wf%dﬂm Maiiy %‘H CONLrTds are d/é’f/ﬂmﬁff/
and_haie /’;mg/:wf %ﬁ Vil rrgéz/mr ot e DTM / (ate
(T/&M 4 me_considered 72 /M% rrached. %'_ ) This mealis
#mf W ém%— obrds guch dd ltaly there 18 dctvaliy
a m/z/z&/t mm/aﬁm a/zra/z% uh xfa_d Hure [s fewer
47/}7 fun éﬁz 7////1 bé//?/ Dindued V174 amily,  IF
Other countries follow gmm /%/5 om% he g{/&?‘/[/ /oam//zox‘zm
will o Jonger— continve~to growd /MMMM?ZMW br/f
tead //d [ 12qi1rng WN/% legd @ﬁa’ fo be p/zz%”z/ééd
ant Q”/Z/Ma/g,m A frumq///r o ey -

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



Write in the box the number of the question you are answering A8 o (; A
on this page as it is designated in the exam. I

ZA‘a Somne.  ranvipvers N \leve, Maltaus \“‘\Lon‘g} Con he

NANAY pc\e,&i‘c-'\' Lalimg bopw\w}«lhn 1 SSauey hecauSe ""f’"51~c’r~‘mllr:,}.l

Lsoé produchinn  Wag Ingease d &P om A on ool vW%.. and

oopalat®n has  grewn Q—‘ﬁ-n{!nmkﬁnsa These Mo concephs Were Mo
t ) d T L]

‘?as:"c. Nanaals ok My\Fang +\"l°f"v\ Yrerelong Geocren pres fee |

. e popatateen ay»ow}"r\ nd (502 produchian DISA ca e Weay
Pt ¥ ,

MalMau s proposged, hiS U)r\;i,u)-"\nc g . e\M_x\Lmqllﬂ papulmunr\

Wi \\ SULpSG Yoo @ ?ﬁd&u{)ﬂhn Caus o prohbems . (""-"ijpm also

heVitve  Malbnas'  Mepony  oxii) appVes he cause  terdua  oneas
- bl

ghqqg‘lj’ g‘bm h{\{_ pﬁo.B&*\g Mg\}t]-\"\.b\‘) ?r\e..\{‘c,\eé - {"‘l‘ C.!(WV\G ]{"} Sea 'O -
[ L

@\V!".I"hﬁm-l.n r

Sodnivina Alatce.  hay  braub pmdwonh_ oy Prood due 1o viddrddier

MM L\ male  cenddeag | Wowews~ ¥ \f\u;u?a-ﬁ has nyn {bgulmp"-\f\

?}me}-\f\m A< f"tlr:\\”\ws ?nwé{bht} Sab  SB o  Alriem XNRA N,

Moy L\)W\\QL éw’; Yo fooe S\'\l{")‘ﬂc}g_.

%" S—’m& QRolrar S M\:CV\{_ MG\H""\%.SI LRML-} YVoes Ao V»oil

beve. boduy  begause Popalah2n 15 et f"r\tmtseﬂag- Qv where ,
—J vy 7

1A p\ue S Ve Weslern EUU‘::M--I pagalaten (& Srackigy, ko deching,
L] h ] 9] T

CoalradieNa, Malud  cllamnl Mgk pap wlaNsa g rowhHa g Q;F.;o_m-h‘ﬁ}.

E\.M.h Y cormbares  Who  ave xpnne NN popuialion Gyous b

S ool Ubommes Q PoWiniy ndr a5 bk o pare as in N

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AB Lot

Write in the box the number of the qu
on this page as it is designated in the exam.

l%‘ '1;}01‘5\“- @ On e 5\0‘00&\ ‘Q\:"%\i @:"po\‘m%r\ @

@  neeased erponendtally  wp vabll  be la¢o, @A but

Nowyr etk b Mmlﬁ\hm\ %mw}'\ﬁ 1S Sbw{‘r\sa, Aoiva anpﬂ

Yok e ppalatian  will em«l«mlio} shah'se Ot

w Sone GRogAN G Mals  Maltad \"'\wg} Cang & he Used

\~0 ‘pmc\.‘b\- Lullma. "l-,.apu\\c-\!r-*‘mr\ I 56 wes -3 h-c.(,q,u,').e_ -(:ooé_ ?r‘oc‘:\ucub-\

has r*euf\'Hu) Neioag. e e SN Genk -m.‘-«\‘“i\"bt N breen p\tv‘oiu.lf‘an__

Laeoned e 5T ferR Ve : 'h‘jku-ge, S.e.z,é\‘ o Q inm'cjon‘fa(\ Led o

w\u\ur God \Pnot\.uo&\l“af\.. These C}&o%mpl—u—s argamae T ol

hw\w ‘(QD C.O\.(.J\'\.z,é, b(:} ;"mgm(‘up 515“‘!'\%134"&4\ » Lfa@é nof}‘

because % n\c-;r\:wk"% ?99&\,10\3‘(’?'\ we kA Ao enomgin Fond  1/ve Mallbhug

Liale A

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



: AC (o5
w2 Write in the box the number of the question you are answering
on this page as it is designated in the exam.

\ROSBRETYD
A Reopie 6o Sl rlig rgh Triinde MOVTIUE'S $rain 16 ST o proiplum Raiet
the pepuicAlion 1S Qrauoing. neily, Ui, ok AUucions Qi
QU IR CEI. TORS (5 O N, Qroplin wecoists ¥, ol dian Grmodtn o 4
WU 1S ooy 6 oud Y Yron Sood Ploaidian, Wnith & afoudyy o
O Soidy oive. Trefdere, TroN e S BIGR. Yegk 00 NN SCON (U Uk
OF ®OL Secife Wik Qon't Rroducy R Qedn % aBdn Yo W epwdion.
A, DOMOAChISIORS, N0 afeRRepL Selal ot il inke Nal¥s's oy
£ oslon, HRnL oo ¥ib © O L QRokn s dr QUEANON s (i vy

B fradan, peony gels telon el srdi NaMUS'S ety CEERNS N0t ydre
ROONED (T YCRORICS opidon grasding Wt ok \eern 4 VS cheicol Seri aurs

BROAN Y SO0, iohd Py TS BRnlingn b YRS & afeding Wit g f004

OO O SO and 165 SUIAIA "\ g cOBURINGS. Tin 0911 BUSITSS,
00 PR 0PN s Ao RS Ak gueiny O Ty produgr e troce deand e
%mmm;mummt WHEN e R F dounniidl SO TS

NSO, OGS S a8ty 18 I0CONATR, Bee QUR of Ty, \n ko 10 Senralogy dnd
50 RONNdE y, NLANNg ¥t ¥t o8 IR, S UMD AT 0SS anUeapfion Yo

SOSTNN e, poplidfidn widn Rod. Bio tetartiegy, \HOS\eeEN an Wn0resirg foctor,

DO QNSO SHARE 1 Ne ErRAnRNGWIgN W e, VS OF QW kﬁmxéqg Y0

an Y, (00 aNd prolced wnudn Gy,

© 2011 The College Board.
Visit the College Board on the Web: www.collegeboard.org.



AP® HUMAN GEOGRAPHY
2011 SCORING COMMENTARY

Question 2
Overview

This question was structured in a way that required students to present both sides of the discourse on
the future of world population growth and food supply. Students were asked to frame their discussion
around the precepts of the Malthusian essay on population growth. Students were given a summary of
the Malthusian argument and did not need to base their essays on recall. The question did not force
students to choose sides in this debate but rather to present evidence that they understood both views
about the future relationships between population growth and food supply.

Sample: 2A
Score: 8

This essay demonstrates a comprehensive understanding of Thomas Malthus’ theory about population
growth and food production and earned full credit (4 points in part A and 4 points in part B). In part A the
response received 1 identification point for stating that “the population of people is still growing
exponentially” and 1 explanation point for understanding that “Malthus’s theory can be used to predict
future population issues because [of the] many countries in the lower stages (2—3) of the demographic
transition model.” The response was awarded 2 points for correctly indicating that a steadily growing
population “could potentially lead to the widespread famine Malthus predicted” and for the related
explanation that in some countries “there is not a high production commercial farming industry.” In
part B the essay received 1 point for correctly identifying a reason that does not support Malthus’
theory: “there is plenty of it [food] which will easily serve as subsitence [sic] for the growing population
of people.” An additional point was gained for explaining that “[p]eople are able to produce a greater
amount of food than ever before thanks to large monoculture farms, feedlots, and GMOs.” The response
merited 1 point for noting that “the world population will no longer continue to grow exponentially,” and
1 more point was earned for the explanation that “many countries are developed and have reached the
latter stages of the DTM (late Stage 4; some considered to have reached 5).”

Sample: 2B
Score: 6

The essay received partial credit in part A (3 points) and partial credit in part B (3 points). In part A

1 point was received for correctly stating, “population has grown exponentially” as a reason that
Malthus’ theory has predictive value. An additional point was awarded for explaining that “historically,
food production has increased in an arithmetic way.” The response received no credit for an additional
identification point in this part, but 1 point was granted for explaining that “sub-Saharan Africa has
trouble producing enough food due to environment and climate conditions.” In part B the essay received
1 point for correctly identifying a reason that does not support Malthus’ theory: “population is not
increasing everywhere.” Thus, population is starting to decline in some areas, which contradicts
Malthus’ ideas. No explanation was provided in support of this statement, however, so no point was
earned. The response merited 2 points for identifying the greater efficiency in food production as
another reason to question the theory, along with a corresponding explanation that attributes the
increase in production to the Green Revolution and the “increased use of fertilizers, hybrid seeds, and
irrigation.”
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Question 2 (continued)

Sample: 2C
Score: 4

The essay received partial credit in part A (2 points) and partial credit in part B (2 points). In part A the
response received 2 identification points for correctly observing in support of Malthus’ theory that
“population is growing exponentially while food production is growing arithmetically.” No explanation
points were merited. In part B the essay earned 1 identification point for correctly stating, in opposition
to the theory, that “agriculture has turned into mass consumption to sustain the population with food.”
An additional point was awarded for explaining, “we have began [sic] to use chemical fertilizers and
learned how to produce bigger and better products, faster.” No additional identification or explanation
points were granted.
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